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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226615721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Which of the following games will be conducted every 4 years

a. Common wealth games

=

Asian games

Summer Olympic games

i s

Winter Olympic games
208 AS° D R (B8 4 VOTS T 2EFD BEKOG0®.

a. SRS AV)
b. DAEHS ?‘{533
o ‘;’ém&g a&:oﬁ:fﬁ&g

d. Doer8 2e0HE ?5{5:;“)
1. a.b.c
58 b.c.d
3. abcd
4, 2o
Options :
1. % 1
2. % 2
3.¢3

4. % 4



Question Number : 2 Question Id : 39226615722 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer

1. Missile a.
11. Battle tank b.

111. Satellite

iv.  Spacecraft d.

DTS D) M80w0k.

i 293 a.
[
11. aonds &FSDEJ b.
m -

111. EDND°0 £
1v. @0dE I°K d.
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1 i-b, ii-d. 1i-c. 1v-a
2 i-b, ti-c, mi-d. 1v-a
3 ic. ii-b, mi-a, ivd
4. i-c. iid #i-a. Wb
Options :
1. % ]
2.9
3% 3

4. % 4
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Question Number : 3 Question Id : 39226615723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Every year the Nobel prizes are given in six fields. They are in
Peace. Physics. Chemistry, Medicine, Literature. and ......

1. Economics
2. History
3. Civics

4. Geography
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Options :
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Question Number : 4 Question Id : 39226615724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Among the following. this place 1s UNESCO’s World
Heritage Sites in India

1. Gateway of India. Mumbai

2. Nagarjuna Konda. Andhra Pradesh
3. Vivekanand Rock Memorial. Kanya Kumari
4, Ramappa temple . Telangana
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Options :
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2. % )
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Question Number : 5 Question Id : 39226615725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘National Defense Academy’ is located at

Dehradun. Uttarakhand

Khadakvasla, Pune

Mhow, Madhya Pradesh

4. Lucknow, UP
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Options :
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Question Number : 6 Question Id : 39226615726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer

1. Lal Bahadur Shastri a. Desabandhu

il Chittaranjan Das b. Grand old man of India

111. Dadabhai Naoroji o Lok Naik

iv.  Jaya Prakash Narayan d. Man of peace

DTS VIrEIR) HZ0TOE.

i oS rErE TR a. GIDOLH

i.  DESond oo b.  |rod LESrS &5 gobair
iii. orowrow I°6°A c. SCaanl

V. zcHPsR SPordes d 508 5 H5

1 1-a, 1-d. 111-b, 1v-c
a1 1-a, 1i-c, 1-b. 1v-d

1-c. 1-b. 11-d. 1v-a

Tad

4, 1-d, 1-a, 11-b, 1v-c
Options :
1. %1
2.% 2
3.%3
4.v 4



Question Number : 7 Question Id : 39226615727 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding committees

i. K.S. Radha Krishnan Committee a. Road safety

1. R.M. Lotha Comunittee b. Fast track bullet trains
111. Swaminathan Committee ¢. Reforms in BCCI
iv. Aravind Panagariya Committee d. Problems of farmers

¥ DSowofod DB VIGO0 003508,

—t

i. KS.oorms S8 a. S;ord PSS
ii. RM.S'q 508 b. >RErE 08P
iii. (WTES KW c. BCCIS" o) Seaen
iv. @5208 BIBcsr K& d. Do vHge
1. i ii-b. iii-d. iv-c
2 1-b. 1-a. i-c. 1v-d
3 1-a. 1i-c. 1-d. 1v-b
4. ib. ii-c. iii-a, iv-d
Options :
1. %1
2.% 2
3.¥3
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Question Number : 8 Question Id : 39226615728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct statements regarding postal services

a. Postal system was established in India by
Lord Clive in 1766

b. India post payment bank (IPPB) was setup in 2016

C. “Philately” is the hobby of collecting stamps. study of
postal history.
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Options :

1. %1
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Question Number : 9 Question Id : 39226615729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Goalkeeper Srijesh who was awarded Padmabhushan on
Republic day- 2025, belongs to this state

I West Bengal
2. Chhattisgarh
3 Tamil Nadu

4. Kerala
2025 KeagBo@ BI )50 BoSE)on (SEE0DS DS
oY oS A6358 BFX &1+ I3 Dods;w

1. HyoBorrS
2. $BIE

3. SIED

4, EB8¥

Options :
1. %1
2. %2
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Question Number : 10 Question Id : 39226615730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Deep seek 1s a/an

8 Computer language

2 Artificial Intelligence

Semi-Conductor

fd

4. Black Chain Technology
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Options :
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Question Number : 11 Question Id : 39226615731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In ‘Ek ped ma ke nam’ — this activity 1s to be conducted
1 Salute to mother
2. Biogas production

Planting a tree by the name of mother

(sl

4. Educating mothers
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Options :
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Question Number : 12 Question Id : 39226615732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Women from Boondu of Jharkhand, Bhaiga of Chhattisgarh
were invited for this celebration

1. 38™ National games

z 76™ Republic day

3 T20 Match at Rajkot

4, Parliament winter sessions
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Question Number : 13 Question Id : 39226615733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This nstitution was awarded Subhash Chandra Bose Apada
Prabandhan Puraskar — 2025 by Central Home ministry
for Service against natural disasters

1. INCOIS

2. Rapid Action Force

3 Nature Pride

4. Disaster Management
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Options :
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Question Number : 14 Question Id : 39226615734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Theme for International Education day 2025 declared by UNO is

£

12

fad

4.

Quality education for deprived sections
Eradication of poverty through education

ATl and Education : Preserving human agency in a world
of automation

Reaching the unreached

0SB Domg B0 - 20255 SRISE BID
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Options :

1.% 1
2.% )
3.¢3
4. % 4
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Question Number : 15 Question Id : 39226615735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Star gate projectis a

1. Bollywood Film industry production unit

e

Artificial Intelligence based IT infrastructure project

Solar power project

fad

4, Semiconductors transport project
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Options :
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Question Number : 16 Question Id : 39226615736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The word ‘Deport” is related to
i Machine learning software

2. Construction of ports

[

Send out illegal migrants

4, Portability of digital currency
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Options :
1.%# 1
2.% 2
3.3
4. % 4

Section 2
Section Id : 392266512
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions :
Number of Questions to be attempted :
Section Marks :
Maximum Instruction Time :
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Sub-Section Number :
Sub-Section Id : 392266567
Question Shuffling Allowed : Yes



Question Number : 17 Question Id : 39226615737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This committee recommended SUPW

1. Kothart Commission

2 Rama Murthy Committee

LS ]

Janardhana Reddy Committee
4. Ishwarbhai Patel Committee
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Options :
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Question Number : 18 Question Id : 39226615738 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer

1.  Sadler commission

ii. Wood’s dispatch

iii. Hartog committee

iv. Sargent commission d.

Lo
G
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eﬂgiag EDRS

ii. && @d&H

fii. ek 52063

iv. @@30@5 MRS

[ S T

T4l

4.

Options :
1. % 1

2. %2
3.¢3
4. % 4

1-C.
1-a.
1-C.
1-d.

11-b.
11-b.
11-a.

11-a.

111-d.
111-d.
i1i-d.

111-C,

a.
b.

S DS Kodododk.

a.

d.

1v-a
1V-¢
1v-b

1v-b

Balanced policy on Religious education
Establishment of employment centers

Establishment of Intermediate
board

Scale up woman education
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Question Number : 19 Question Id : 39226615739 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Institute that conducts trainings to teachers on script
writing, media production, media communication. media
research and other items at national level

Q) Se Sairb, Déair FEES, s SHrgIEss,
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1 SIET
2. NCERT
3. NCTE
4. CIET
Options :
1. %1
2. %2
3.%83
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Question Number : 20 Question Id : 39226615740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This Article of Indian Constitution mandates the government
to provide free and compulsory elementary education to all
children in the country under the age of 14 years

EARIST T@éohoéﬂ‘d B3 Q58 D05 14 Ho5S oS
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1. 32
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4. 56
Options :
1. %1
2.% 2
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Question Number : 21 Question Id : 39226615741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The day of ‘Universal Declaration of Human Rights’ is on
DHBIS IS TE @ (5T’ =OAS SO

L 10-12-1948

2, 01-12-1946

15-08-1947

4, 26-01-1950

b

Options :
1.¥1
2.% 2
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Question Number : 22 Question Id : 39226615742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per the section of RTE — 2009 Act. 25 percentage of seats
should be reserved children from weaker sections and
disadvantaged group in 1* class of private schools

RTE-2009 563080 &2 DES ($5°50 20y $Tes, (5o
$OPee IEEY 080N oo, (Pt FEFOY 15 SEKAS®
25 @50 ey dzby Scird
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Options :

1. %1
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Question Number : 23 Question Id : 39226615743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP - 2020 this age is considered as
‘preparatory stage’

1. 3 — 6 years
2, 6 — 8 years
3. & — 11 years

4. 11— 14 years

NEP — 2020 3570005 ‘;’;g;’::.ge:é‘ &F H5S00)
1. 3 - 6 o

2. 6 - 8 Do

3. 8 - 11 Ddon

4. 11 - 14 Jon
Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 24 Question Id : 39226615744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct statements regarding DPEP

a. Financial support agencies - Overseas Development
Agency. World Bank. UNDP

b. In 1996-97 this was started in 5 districts in our state

C. Access. enrollment, retention and quality education are
the four pillars of DPEP.

d. Introduced six learning principles

DPEP 5020000 338 25575750 M80008.

a. esg;: V000 WOSEDS mgm . 5.,.;56‘3.

B, (Hosergo>, UNDP
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1. a.b.d

2 b.c.d

: a.b.c

4. acd
Options :
1. % 1
2.% 2
3.3
4. % 4

Section 3

Section Id : 392266513
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 16



Number of Questions to be attempted : 16

Section Marks : 8
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266568
Question Shuffling Allowed : Yes

Question Number : 25 Question Id : 39226615745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This action does not help to overcome the Plateau stage

1. Motivating the child

2. Adopting proper teaching methods

Tad

Giving difficult tasks

=

Finding out the causes and taking measures
DBHTREED ©PRWOBEVS SE)ED S
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Options :
1. %1
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Question Number : 26 Question Id : 39226615746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Fluency. flexibility and originality are the characteristic
features of

i Creativity
2. Aptitude

3. Intelligence
4. Memory

TS, $B0E 5000 VIR0 &I B ofEre

1. mgaeme‘é éﬁiﬁ
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Options :
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Question Number : 27 Question Id : 39226615747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This component of Psychic structure acts as an executive unit

L. Id

2. Libido

3. Ego

4. Super Ego

SOOI BATD By AT )e9 ©0%0.

1. ey
2. 0O&°
3. 25370
4. STalveLle

Options :

1. ¥ 1

2.% 2

3.3

4. % 4



Question Number : 28 Question Id : 39226615748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A 5™ class boy is facing a problem in reading the text properly.
observing this the teacher encouraged him saying that you are
doing better than before. Here the motivation is

1. Intrinsic Motivation
2 Extrinsic Motivation
3 Personal Motivation
4. Teachers Motivation
2.5 55 SRS 2o, o) SEIE0S” 22)0BDESTE

o na n g ..-7.8!5-" =] A - /'-3 =
am@%aawﬁ (SPE Yo, 35 il
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Options :
1. % ]
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Question Number : 29 Question Id : 39226615749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

According to Sandy Ford Intelligence and Academic
achievement are related to these elements of personality

1. Skills
2 Intellectual abilities

Traits

b

4. Aptitudes
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Options :
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Question Number : 30 Question Id : 39226615750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mental age of a 10 year old girl 1s 8 years. Then she comes
under this category of intelligence

i Morons

)

Slow learner

(ad

Average Intelligence
4, Superiors
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Options :
1. % 1
2.92
3.% 3
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Question Number : 31 Question Id : 39226615751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In this personality test, Hero. Theme and Consequences of the
story are taken into consideration in assessment of personality

1. Minnesota Multiphasic Personality Inventory
2. Witten Burns Psychiatric Rating Scale
Rorschach Inkblot Test

Lad

4. Thematic Apperception Test
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Options :
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Question Number : 32 Question Id : 39226615752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

As per Vygotsky, this aspect plays an essential role in the
cognitive development of a person

1. Insight of the child
2. Social interactions

Birth order of the child

b

4. Parental attitude
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Options :
1. % 1
2.9 2
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Question Number : 33 Question Id : 39226615753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The people who participate in the preparation of
‘Individualized Education Programme’ are

1. Students. Student’s parents and Teacher
2, Students, Resource teacher and Principal

Student’s parents, Teacher and Resource Teacher

LS ]

4 Student’s parents. Teacher and Social worker
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Options :
1. %1
2. %2
3.3
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Question Number : 34 Question Id : 39226615754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Defense Mechanism

i
ii.
1ii.

1v.

Rationalization
Projection
Compensation

Displacement

a.

=

= L

Select other alternatives
Defend one’s own behaviour
To make others responsible

Goal change

SEESOE0 1000 ¥BS DIrTrN0 Kook,

i rehi¥deso
11. @dﬂmﬂ
iil. 3530
V. D50
1. 1-b, 1ii-a. 1i-d.
2. 1-C. 11-a. 111-b.
3. 1-c. 1i-d. 1ii-a.
4. 1-b. 1i-c. 1iii-a.
Options :
1. %1
2. %2
3.% 3
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d.

1vV-C
1v-d
iv-b

1v-d
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Question Number : 35 Question Id : 39226615755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Psycho social crisis ‘Intimacy Vs Isolation” is faced by the
people of this stage

1. Middle Adulthood

2. Early Adulthood

3: Adolescence

4. Mature stage

—

B3 S¥S°D VS0 Vs D050’ e SoStarodnk

At /9 4
234 HORB A& 0t .
1 méﬁgéﬁrﬁraaﬁdé’
2; @*iﬁs&ﬁcﬁ:ﬂﬁﬁﬁ%
3. Etebilelnt-]
4. L’aﬁ;ﬁ%cﬂ%
Options :
1. %1
2.¥ 2
3.% 3

4. % 4



Question Number : 36 Question Id : 39226615756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Group test of mtelligence in the following is

L. Bhatia Intelligence Test

4 Object Assembled Test
Block Design Test

4. Army Alpha Test

[

308 FAS” XTI (Pep H8Y

8 EALT S loven P 5000
2 530y By B0
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4 B
4 &56& @E.T:) ﬂéﬁ
Options :
1. % 1
2. %2
3.%3

4.4 4



Question Number : 37 Question Id : 39226615757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

6Xd?

] -——————— 1s useful to calculate
N(N*-1)
L. Mode
% Arthemetic Mean - Grouped data
3 Standard deviation - Ungrouped data
4. Correlation
62 dl £, 8 s e — Y, 7
| ————— G 83500 &3&Tridioenod.
N(N*-1
L PTOEEO
t_{\{" L Y oo e E{ " e -
2. @00 - SRS $Gmo¥o
3. (el JSoS0 - eIPE)E Sanowo
4. DTPH0D0HO
Options :
1% 1
2. %2
3.%3

4.9 4



Question Number : 38 Question Id : 39226615758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Searching for hidden objects is the evidence of the
development of this concept.

1. Conservation

2 Animisim

LS

Object Permanence
4. Egocentrism
TS SRPOFW0 IEEL0 $D0 s S 0D Tohod
003 ﬁ)ﬁﬂdgﬁo
L H00DHSNS goss
s 3636_%5 ALY
st D 4 L
3. FRTE; 2D
4. &0 ToRKYS NS

Options :
1. %1
2. %2
3.3
4, % 4



Question Number : 39 Question Id : 39226615759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A girl learnt to write Urdu words. Now she wish to learn to
write Telugu words, then the transfer of learning would be

I Positive Transfer
2. Negative Transfer

Zero Transfer

b

4. Bilateral Transfer
2 2K &8r Doren P00 SE)K08. FYYED Beolb Doren
(oplovbTN]e 3&3&?&5@3}0&. 35)¢ 201 @255‘{35 2B SPC0Y.

1 20Ere AP0
. ;.55@65 230
3. %Jtsﬁg aInloLlebble)s)
4, ﬁsijﬁt‘g’g 2383eTP 0000
Options :
1% ]
2.2
3.% 3

4. % 4



Question Number : 40 Question Id : 39226615760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT a characteristic feature of
development.

i Development 1s a continuous process.

% Development proceeds from specific to general.

3. Development is a complex and comprehensive process.
4. Development is cumulative.

208 79S° I==%o Book), ©KE0 5

i 500 JFosBo XN (HEc.
2 o0 ;?Jgt,g 8% 500D Frortes OFT FEo.
el s, ,:1../ o e g e - T LY g_ v
3. S0 @Dﬁﬁ,@m 00050 BabNFod (B[S,
4. DETR0 DOVEIIB.
Options :
1. % 1
2.9 2
3.% 3
4, % 4
Section 4
Section Id : 392266514
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266569
Question Shuffling Allowed : Yes



Question Number : 41 Question Id : 39226615761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
20e0d> J05L Sbeaciy o3 10220800 B 53”5'“5@.1::
@ I DAL roITEBETIS B
es. Erorey oY) Soo DHSE® FSSen DI,
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Ba. DI oo{goen’ @B B ¥ Ho¥eN0
1 e, 3, &

2 @, &3, J

3. ®©, e3, 83

4. es, 3, B3

Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 42 Question Id : 39226615762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘G%@’@ﬁzmraézﬁwﬁﬁbﬁmwn

e o,
1. NEO, B0 A
2. ondo, c:sogo
o 0, AATea)
4. SE}QD, M)Tole)
Options :
1. %1
2. % )
3.¥3

4. % 4



Question Number : 43 Question Id : 39226615763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

g, a L L & 2

BEBILS 3d@NBorr Ko Toren

1. %0 HOEK, Sov &8 DK

2. ':;:ﬁo)es e, oS end)
3. E3)8D 29y, (2050W|E0AS
4 S &30 D, SosEsH
Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 44 Question Id : 39226615764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

RO E9od® mdantsod.

e, Seotb &9 . e Tre @Q‘JD‘“S@
e,  B¥dA D, Sow Do)

3. moé;:b;’ﬁe:é;&da 5 B soKo 837007
3. =HAS0 & o Pen o

©-2, 3-8, 3-2, B3-&
2. -3, e3-G, §-0, Bi-o
3: -G, 3-8, 3-2, B-
4. ©-D, e3-G, J-o, B3-0)

Options :
1. %1
2. %2
3.% 3
4.9 4



Question Number : 45 Question Id : 39226615765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
B3 DOTHEHEI0 ITHHF DoTYo 5708 DE HYIBS
Sam Kowd 58 Eaiibi)d.” S 355::6533 OO0 EE0.

L =R

2.  edisrd
3. RN

4. ol %1
Options :

1. %1

2. %2

3.¢¥3

4. % 4



Question Number : 46 Question Id : 39226615766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
308 HEFFEOD BB (K008 @HY)os.
©. DSGRES D HOTEET0T B

&3, Dzsn S 2L Jeond dbwod

9

ﬁeﬁ;;}"’i‘i}b DO Waos ST
Ei.  SPY5P0) TPO0 SPPSTOD

L E ©, &3, 3, 53

7.8 e, 7, o, 53

3. e, o, 3, 82

4, 3 G, v, B3

Options :
1. %1
2.9
3.%3
4. % 4



Question Number : 47 Question Id : 39226615767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

200 72S° KOO

i 08850 ~ Ulu
2 %ﬂocﬁ'tﬁgo - Uuu
3 X500 - 11U
4 PRPRI0 - Uul

Options :

1. % 1

2. % 2

3.% 3

4.9 4

Question Number : 48 Question Id : 39226615768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

208 7AS° VTS
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2 E}wamolégw wgg lela
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4. 3*::“5% - CETOEH0D
Options :
1. % 1
2. % 2
3.¢ 3

4. % 4



Question Number : 49 Question Id : 39226615769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

R0 KoKE0’ oS e¥od” K3 BArY) EDIFARL.

1. EP83a5 20
g2
2. e30BS
% ﬁaﬁ:%:.’aj
4. Vb Tnblob)
Options :
1. % 1
2. %2
3.¥3
4. % 4

Question Number : 50 Question Id : 39226615770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

DeSHTES® ‘e30(§ @SR AT Tes oK WOD
BOLTPIEI0R Forerdsd %m‘@ﬁj%ﬁmm.

I &6 «dr
2. mESy SrOnS oY
3 DORP mgés"boetéo
4. FoEZS02rE Juodorard
Options :
1.¢ 1
2. % )
3.% 3

4. % 4



Question Number : 51 Question Id : 39226615771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
52 2203 (Pze Tense dHot’ - oF) KD
1. Bhosd Jose SRER
2 3@5@*&5 ?{’:p:ésmcr“cmra
3. Selaple ﬁ“‘écﬁasﬁ“@

4. E"L‘JEO I
Options :
1.% 1
2.% 2
3.% 3
4.9 4

Question Number : 52 Question Id : 39226615772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

308’ HIS (PE)D B&o

L o
2. Q&
3. =lelathy)
4. 308
Options :
1.%# 1
2.9 2
3.% 3

4. % 4



Question Number : 53 Question Id : 39226615773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

S0 1o (DEHS Bs THOS” (FPYoRTL.

1. Pl lendale!
2. motdoeho
3. §m§sﬁmﬁo
4. 0D RTPKO
Options :
1.v 1
2. % 2
3. % 3
4. % 4

Question Number : 54 Question Id : 39226615774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

(€8¢ HDorod T T

1. 'E&:Q?.Fe:e:f:: S5
2. e, BRI
3. dpacd, WolghEd
4. BESKHE, 300
Options :
1.¥ 1
2.% 2
3.% 3

4. % 4



Question Number : 55 Question Id : 39226615775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SUT TS0 0D BeodS3 ST FIresy (HE

1. R
3. FoLicex
[ .
3. M) E¥es
4. Ko
Options :
1. % 1
2. % )
3.% 3
4.4 4

Question Number : 56 Question Id : 39226615776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
SOIS ©0FE R J05T0Ten HYOSED, TPANE0 BN
X %"’;330;53% Sfelabvtd
L. D200
2. F{:Jesaﬁe‘é&ﬁi%
3. 93T - @@Kﬁgodﬁi
4.  (H¥0B
Options :
1.% 1
2.% 2
3.3
4. % 4
Sub-Section Number : 2

Sub-Section Id : 392266570
Question Shuffling Allowed : Yes



Question Number : 57 Question Id : 39226615777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
TOTOSIT TPEIY DANETE0” A @) IS0V L.

i QI‘)J@S 2oE

2. 20,2, Xmo?szij
i e Tﬁa?::&
4. D‘ﬂmiio@i;jti 3

Options :

1.1

2. % )

3.% 3

4, % 4

Question Number : 58 Question Id : 39226615778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

GSY TG el $é002rdE TodS gt

1 %8
&
P &K
3. €840
4. &
Options :
1. % 1
2.% 2
3.% 3

4.9 4



Question Number : 59 Question Id : 39226615779 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
1964 - 66 JJE:JS 008 e é;o.:m:: 5006 &rﬁﬁmﬂéedﬁ:
Fom IBH AR Sresgor mwﬂ)zﬁ'fq Eood BrdodS
S
1. mcsvgqjguas 5030
2.  Sob xhaS
3. S0sdcsr8 xhond
4, >k xonsS

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 60 Question Id : 39226615780 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

3%555556* ‘%2 HOSG00’ d B3 FPIrS50S°Y) &HIFrS0

1.  ($S%¥o
2. (DE5)S
3 @5%@5&
4. [I¥o
Options :
1. % 1
2.% 2
3.% 3

4. % 4



Question Number : 61 Question Id : 39226615781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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1. ijﬂ&‘:’g&ﬁdﬂao ROYEOMT WIS @000

2. £, Tdows grard) oo \Hear .

3.  SHF 5ood” RS PHTew SEIFE).
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4
Options :

1. % 1

2. %2
3.¥3

4. % 4
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Question Number : 62 Question Id : 39226615782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
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Options :
1.¥ 1
2.% 2
3.% 3

4. % 4



Question Number : 63 Question Id : 39226615783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

$0E), 80, ©L05E0 INETS ©0Fe0 JorHE .

; Dmdl Z0
=
2. ALFe 2050
=] & e
3. @ﬁm@g 250
e s M
4, o3 5@3&4 EE*;‘SSD
Options :
1. %1
2. %)
3.4 3
4. % 4

Question Number : 64 Question Id : 39226615784 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

(B8 D85 ITF0S” IoTers ¥ Sarerioss FETod
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Options :
1.9 1
2. % 2
3.% 3
4, % 4
Section 5
Section Id : 392266515
Section Number : 5

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266571
Question Shuffling Allowed : Yes

Question Number : 65 Question Id : 39226615785 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the negative interrogative form of the following
statement.

They are right.
i, Aren’t they right?

2 Are they right.

fd

They are not right
4. They are right. are they?
Options :
1.¢1
2. %2
3.% 3
4.% 4



Question Number : 66 Question Id : 39226615786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Choose the positive statement corresponding to the following
negative interrogative sentence.

Mustn’t we leave now?

1. We must leave now.

b

We leave now.

Must we leave now?

Ld

4. We mustn’t leave now.

Options :
1.¥ 1
2. %2
3.% 3
4. % 4

Question Number : 67 Question Id : 39226615787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
He arrived last at the party.

Identify the part of speech of the word °last’ in the sentence
above.

1. Verb
2 Adverb
3 Noun
4. Determiner
Options :
1. % 1
2.9 2
3. % 3

4. % 4



Question Number : 68 Question Id : 39226615788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that functions as a noun in the sentence:
“We saved the best for last.”

1. we
2. saved
3. best

4, last

Options :
1. % 1

2.% 2
3. % 3
4.9 4

Question Number : 69 Question Id : 39226615789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

When I arrived, the Lecture had already started and the
professor (write) on the overhead projector.

Choose the option that fits the blank.
L has written
Z. was writing

would write

b

4, 1S Writing

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 70 Question Id : 39226615790 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
A: Where is Tom?

B:1 (see) him today. but he told Mary that he would be
in for dinner.

Choose the option that fits the blank.
L. am not seeing
2. was 1ot seeing

have not seen

LS |

4. do not see

Options :
1. %1
2. %2
3.3
4. % 4

Question Number : 71 Question Id : 39226615791 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He knows well how to deal people.

Choose the preposition that fits the blank.

1. by
.4 at
3. n
4, with
Options :
1. %1
2. % 2
3. %3

4. v 4



Question Number : 72 Question Id : 39226615792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
We stay in Kashmir during summer.
In the above sentence “during’ is:
I; a participle preposition

2. a compound preposition

(Y]

a phrase preposition

4. a present preposition

Options :
1.9 1
2. % 2
3.% 3
4. % 4

Question Number : 73 Question Id : 39226615793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
In compound words like ‘blackboard’. the stress typically
falls:
1. On the second syllable of each word
2. Ounly on the last letter.
3. On the first syllable
4, Only on the second word.

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 74 Question Id : 39226615794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct syllabic division of the word

‘Paediatrician’
1. Pae — di — atr1 — cian
2. paedi — atrici — an

sl

paed —1at — rici — an

4. pae — di — a — tri — cian

Options :
1. %1
2. %2
3.8 3
4.9 4

Question Number : 75 Question Id : 39226615795 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

I will pay you hundred  week.

Choose the correct set of articles that fit the respective blanks.

1. an. a
2. a. the
3. an. the
4. a. a

Options :

1. % 1

2. % 2

3.% 3

4.9 4



Question Number : 76 Question Id : 39226615796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

mother in her took pity on the child.

Choose the article that fits the blank.

1. A
Z. The
4 An

4. No Article 1s needed

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 77 Question Id : 39226615797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In this poem the poet John Keats says that the poem of earth
never ends

1 On the Grasshopper and the Cricket
2. The Road not Taken

A Slumber did my Spirit Seal

4, Or will the Dreamer Wake

(sl

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 78 Question Id : 39226615798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
“The Laughing Man™ is a short story by:
1. R.K. Narayan
2. Jhumpa Lahiri

Ruskin Bond

4. Anton Chekhov

T2

Options :
1. %1
2.% 2
3.% 3
4.9 4

Question Number : 79 Question Id : 39226615799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the benefit of note-making.

1. Creating fictional narratives for personal entertainment.
2, Assisting in understanding and recalling information
later.

(Y]

Increasing confusion by omitting important details.

4. Decreasing comprehension and retention of information

Options :
1. % 1
2.9 2
3.% 3
4. % 4



Question Number : 80 Question Id : 39226615800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the purposes of the headline in an editorial is fo:

L. Provide a summary of the article

2. Mislead readers for dramatic effect

Promote biased views

Td

4. Include direct quotations from sources.

Options :

1.¥1

2.% 2

3.%3

4. % 4

Sub-Section Number : 2

Sub-Section Id : 392266572
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 39226615801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the aspect that is not cultivated through speech

1. Impatience and infolerance
2 Co-operation
3. Good manners
4, Coordination
Options :
1.¥1
2.% 2
3.% 3

4. % 4



Question Number : 82 Question Id : 39226615802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the incorrect statement about the purpose of note-
taking:

1. Note — taking is relevant in academic settings

-2

Note — taking helps improve handwriting skills

Tad

Note — taking 1s essential for summarizing lectures and

texts.
4. Note — taking is not important for reading

comprehension.

Options :

1% 1

2.¥2

3.% 3

4.% 4

Question Number : 83 Question Id : 39226615803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

In cognitive domain. the ability to grasp the meaning of words
and sentences from context is part of:

I Analysis

2. Synthesis

fad

Comprehension
4, Application

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 84 Question Id : 39226615804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Listening without a specific purpose is called:
1. decoding listening

2. casual listening

fad

appreciative listening
4, cohesive listening

Options :
1. %1
2.¥2
3.%3
4. % 4

Question Number : 85 Question Id : 39226615805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

‘Curriculum’ indicates:

1. goals, methods. materials and assessments.

2. summary of topics in a subject.

[ ]

the targets of one month.

4. presentation of subject knowledge.

Options :
1.¥1
2.% 2
3.%3
4. % 4



Question Number : 86 Question Id : 39226615806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
The Association phase in Herbartian steps achieves:
Teaching vocabulary

1
2. Analyzing resources

Td

Reflecting on learner performance.
4. Establishing connections with past experiences.
Options :
1% 1
2.%2

3. %3
4.9 4

Question Number : 87 Question Id : 39226615807 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following objective does NOT align with the use of
teaching — learning materials:

1. Making learning permanent
2. Relating learning to real — life situations
: 3 Developing students perception of content
4. Enhancing teachers speaking skills
Options :
1. %1
2.% 2
3.% 3

4. v 4



Question Number : 88 Question Id : 39226615808 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the mcorrect statement about grammar through drama:

I: Student practices grammar through physical activities
and movement.
2. Drama activities are not ideal for quiet and disinterested
classes.
3 These games engage lively students with high energy
levels.
4, Grammar through drama helps students actively
participate in grammar practice.
Options :
1% 1
2.¥2
3. % 3
4.% 4
Section 6
Section Id : 392266516
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266573
Question Shuffling Allowed : Yes



Question Number : 89 Question Id : 39226615809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Number of distinct prime factors of 980

9802 e 3)@@ Rl Regletacplelels éogpé

b

1
2.

tn

Y]

4.

=}

Options :
1.v 1
2. %2
3.% 3
4. % 4

Question Number : 90 Question Id : 39226615810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If a car covers a distance of 89.1 km in 2.2 hours then, the
average distance covered by the car in 1 hour (in km)
2% 5% 2.2 Koved® 89.1 8.2, &80 (PR, @8 1 K0S’
(BeSradosie Bt S8 (3., ©F°)

3. 40.5
2 44.5
3. 4455
4. 45.5

Options :

1.¥1

2. %2

3.8 3

4. % 4



Question Number : 91 Question Id : 39226615811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following percents with their fractions

308 ToroiH T8 é)as;)@e_%'e 236505508

- oy : 1
A 33.3% L —
._1_
" 1
B 22.5% 1 =
3
: 9
B 25% 111. —
40

i A-1,B-i1,C-iii
A-1,B-ii, C-1i
A—-1. B-i1C-iii
4. A-1i. B-1,C-1

1o

fad

Options :
1. %1
2.92
3.8 3
4. % 4



Question Number : 92 Question Id : 39226615812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

On a sum of ¥ 56000 the simple mnterest for 2 years 1s T 280.
then the rate of interest per annum 1is

56000 IGO0 2 BOSEYTH AT Frse $& T280
BONT FTEEs Eééﬁé:o

i 4%
2 2.5%
3 0.25%
4. 2%
Options :
1. %1
2.% 2
3.¥3

4. % 4



Question Number : 93 Question Id : 39226615813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If two adjacent angles of a parallelogram are (5x—5)° and
(10x+ 35)°. then the ratio of these angles 1s

V08 5636:’%&;:13355 Bo i) Seren (5x-5)°

08050 (10x+35)° wons & Fero IR

L 152
2 213
3 1:3
4. 1:4
Options :
1. % 1
2. % 2
3.¥3
4. % 4

Question Number : 94 Question Id : 39226615814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In A4BRC, ZC =90°. Identify the TRUE statement

@m0 ABCS® LC=90°. 05 (3535°R) K:80:504.

1. AC? = AB* + BC?
2. BC* = AB* + AC?
3. AC* = BC? — AB®
4. BC? = AB* = AC’

Options :

1. %1

2. % )

3.% 3

4.9 4



Question Number : 95 Question Id : 39226615815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the statement which i1s NOT TRUE

1 A line has no end points
4 A ray has definite length

A line segment has two end points

)

4, A ray has one end point

200 &S° P SR TTR) MY

1. DETOPD ©0ds DI SOEY.

2 3565708 ABHIS FEY 0.

3. OVPrpo&snsi 3o ©085 DoPLD &OEW.
4, YT ¥ @G@Bﬁoﬁaa@ &0,

Options :
1. %1
2.¥ 2
3.% 3
4. % 4



Question Number : 96 Question Id : 39226615816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If transversal falls on two parallel lines, and (4x+ 21)°,
(5x—3)° are the interior angles on the same side of transversal
then x =

Bot BIrosy Dpep BT|Rp TOTHED B0 (4x+21)°

(5x—3)° e @-Eﬁg@a}ﬁ: 2.5 SO @088 Serren oS x =

1. 18°
2 17*
3 16°
4. 15"
Options :
1.¥1
2.% 2
3.%3

4. % 4



Question Number : 97 Question Id : 39226615817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Simplify (a=5)2a+3b=4c)—=(3a—2b)2c
(@a—Db)(2a+3b—4c)—(3a—2b)2c wééﬁaoﬁo&.
1. 2a* = 3b* + Sab+ bc+ 6¢a
2. 2a* = 3b* —ab— 6bc — 6ca

2a’ = 3b° + ab+8bc—10ca

)

4. —2a° —3b* — 5ab—8bc—10ca

Options :
1. %1
2. %2
3.¥3
4. % 4

Question Number : 98 Question Id : 39226615818 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The product of two consecutive numbers. where the five times
of the first number 1s 8 more than the four times of the second
number 1s

05 SIeE 05 D, BOES vogg Tmeold By X0&3

Moy N e, &= N TR A PR
8 ;.‘J_ab_oam én@ﬂ , €3 DO VD ROPFL V200

1. 132
2. 110
3. 182
4. 156

Options :

1. %1

2. %2

3.%3

4.9 4



Question Number : 99 Question Id : 39226615819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The value of an expression 2/° + 2m” + 2n” + 2lm+ 2mn+ 2nl
when/=3. m=2andn=11s

=3 =2 5885 a=1 o::ufm:) 212 4 208 + 207 4 2Im+ 2mn+ 2nl
et e G320 Eb_ S o3
1. 56
) 50
3 46
4. 36
Options :
1. %1
2.9 )
3.% 3

4. % 4



Question Number : 100 Question Id : 39226615820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Equation for the statement ‘If you take away 5 from 7 times
‘x’ equal to 6 more than one-forth of *y"" is

x’ Booky, 7 Bey 5008 5 BITD, 00 V'S el Jo

L‘RS:) 6 JEJEJ_;SEJ DITPT0. B3 (DD5Wda00050 HESE0

. sx-7=2%°
4
SR P s
4
.
3 Sx=7=7+6
4, ?n‘—5:%+6
Options :
1. %1
2. %2
3.% 3

4.9 4



Question Number : 101 Question Id : 39226615821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mean of first 8 prime numbers 1s

I0EE 8 S ‘{309,35&) DR

1 6.25
2. 8.725
3. 0125
4. 9.625

Options :

1. %1

2. %2

3.8 3

4.9 4



Question Number : 102 Question Id : 39226615822 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A train departs from a station at 11:25 am and arrives the
destination at 5:55pm. The time travelled by the train

6 hr 30 min
2. 5 hr 30 mun
5 hr 35 min

4. 6 hr 10 min

2% Deo 11:25 am % JAS $0& 2centd 5:55pm K

L4

Kogr e B3I, @008 & e (3eireIods $5co

fad

1. 6 Hon 30 Qu

i 5 Kon 30 Qn
3. 5 Kon 35 On
4. 6 noun 10 Ou

Options :

1.v 1

2. % 2

3.% 3

4. % 4



Question Number : 103 Question Id : 39226615823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A circle is inscribed in a square. A;. A, represents area
of circle and square respectively and P;. P, represent
circumference of the circle and the perimeter square
respectively then

2.8 SEO8(E0S" $)80 ©osdPoSHASS, Ay Ayes S)o,
WO 53_%'“@5@:‘* 200adw Py, Pren S8O0dm ;:’Dgép 208,
WS ﬁi::é%%g“ﬂe:ém €000

E A=A P =P,

2 Ay <A P <P

3. A<A, P =P,

4, A=A P <Py

Options :
1. %1
2.¥2
3.%3
4. % 4



Question Number : 104 Question Id : 39226615824 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The total surface area of cuboid is 8788 cm”. If its length.
breadth and height are in the ratio 4 : 3 : 2. then the volume of
it in cm’

2.8 BY P50 Bo¥), oFrYSe JTeso 8788 $5.00.2b.
iPd;@'E&ﬁ&g 00w Je QG 4 13 12 Bons T

i 51228
2 52728
o 53728
4. 57328
Options :
1. % 1
2.9 )
3.% 3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266574

Question Shuffling Allowed : Yes



Question Number : 105 Question Id : 39226615825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Mathematics is the Science of indirect measurement™ is
defined by

1. Aristotile

2. Benjamin pierce
3. Lock

4. August Comte

“Hedeso &0 ﬁﬁef*: FododKo” o 5}%{1}0{):&;‘”&

1 9O RS
2]
2. FozmS oacbogﬂj
3. eSS
4. e31005%3)
=] [ ]
Options :
1. %1
2. % 2
3.% 3

4.9 4



Question Number : 106 Question Id : 39226615826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The word Mathematics is derived from the following Greek
words

A) Ars Mathematica
B) Manthanein

C)  Heurisco

D) Techne

1. Cand D

2 Aand B

3. B and D

4. Aand C

Mathematics e3¢0 (% a8 83 vore HH08&
&E) T8

A) @b JEds
B) oSzdahl
C) 5ol

D) &3

1. C8c5» D

2.  A8ciw B

B 558a5%0 D

(ad

4. A o8aiwn C

Options :
1. % 1
2. % 2
3.¥3
4. % 4



Question Number : 107 Question Id : 39226615827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Specification of the objective ‘Understanding’

. Gives examples

2. Recalls

3. Generalizes

4. Selects proper method

OITIS OFf ﬁﬁ&?ﬁfﬁm

1. &E‘Xﬁ&m@sc‘io

2 203 @?95335"’53&3
aﬁ—l}

3.  FurdgsdosEo

4. HBEToN BEA oSS0
Options :

1.¥1
2. %2
3.% 3

4. % 4



Question Number : 108 Question Id : 39226615828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The book *Siddhanta Shiromani” was written by
1. Bhaskaracharya
2. Aryabhatta
3 Varahamihira
4. Brahmagupta
DToB DY T YYEI0 (TRITD
mmbmaﬂﬁg
2, &sc‘.‘:’ge;ﬁ &
3. Nop e Fbreple!
4. (eoade &mg

Options :
1.¥ 1
2.% 2
3.% 3
4. % 4



Question Number : 109 Question Id : 39226615829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The characteristic feature that belongs to Analvtic method

k: Specific to General

2 General to Specific

= A Unknown to Known

4, Known to Unknown
JZaes DEBE ToBS ©XESw

1 (DBGES o0& JTrSein

D TBeasnd Ho0dk (DSBS

2
3. SO DAA0ED o0& BOVS DRSS
4

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 110 Question Id : 39226615830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The mathematical concepts that can be developed through
Dominos

1. Addition and Subtraction
2. Multiplication

Division

T4l

4. Multiplication and Division

DS To" DOFOBOBA Nedd erHSen
1 RoEeNw, ;:55555&:55;‘533

Z: ST oaloPNb!

3. eI N aT8 a0

4. RS Um0, aTPRwBE 00

Options :
1.¥ 1
2. % 2
3.%83
4. % 4



Question Number : 111 Question Id : 39226615831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Mathematical clubs should be set up in schools — Suggested by
FETod HE%@ Do 08 For)d ol Hrdods 8.

B NCE-2008
2 APSCE-2011
3. NPE-1986

4. NCE-2005

Options :
1. %1

2.% 2
3.¢3
4. % 4

Question Number : 112 Question Id : 39226615832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The following 1s not a characteristic of a good test
1 Reliability
Z. Complexity
3. Validity
4. Objectivity
808 7BS° 50D HY oXmsn 7O

1. ﬁ%’ﬁﬁ)dﬂ:v_ﬁ

265
2. GE%@
3. ﬁ@a;&?m@

4. E}géiééﬁié

Options :
1. %1
2.92
3.%3
4. % 4



Section 7

Section Id : 392266517
Section Number : 7

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24

Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266575
Question Shuffling Allowed : Yes

Question Number : 113 Question Id : 39226615833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The female reproductive part of a flower is

L. Corolla
2 Calyx
) Gynoecium
4. Androecium
DNoS® (& BB arKo
L 58S HEms?
ook
2. 85K HES?
[
3 @0&5%%0
4 et
Options :
1% 1
2. % 2
3.¢¥3

4.% 4



Question Number : 114 Question Id : 39226615834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A, Anthrax L. Protozoa
B. Foot and Mouth disease I1. Bacteria
€ Malaria [II.  Fungi

D.  Rust of wheat IV. Virus
(STEISTeSIRPINGY

A eoFs) I eSS
B. md How 0 .  eriocse
C. 30dsr I 3dogsmw
D. AHS® H0%H5H Bren IV. 368

i A-LB-IL.C-II.D-1IV

r9

A-ILB-NI.C-IV.D-1
A-IILB-IV.C-1.D-III
4. A-IV.B-NIII.C-1L.D-1I

fad

Options :
1. %1
2.% 2
3.¢¥3
4. % 4



Question Number : 115 Question Id : 39226615835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The pair of wild animals without a specific home
1. Lion and bear
2. Bird and Snake
3. Squirrel and Rabbit
4, Monkey and Elephant
L:_;’:e'.%;ﬁ ATH0 B &) BODHO 2365

i NOPP0 H08d0 Jeni2odd

5o ﬁ% S8 FeLn
3. &&e 570050 Xoden
4. 58 18a%0 Do
Options :
1. ¥ 1
2. % 9
3.8 3

4.9 4



Question Number : 116 Question Id : 39226615836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A girl is suffering from stunted growth, swelling face,
discolouration of hair, skin diseases and Diarrhoea. This may
be due to deficiency of

1. Proteins

& Fats

3. Carbohydrates
4, Vitamins

2.8 @100 SO K0&HEEo, 50p0S° T°od)s
L=

- ey o £ e _rl e .-J:U
23*&.5.:3 Sor 52 8™\s&o, ad;;}"’s@am 08w 9drgod
o [ 2
rERERN. 38 O S$°H0 S ST
1 Lﬁﬁgﬁa
2 E°Kew
DO ‘éﬁ“ﬂ;@:
=
4. el en
Options :
1.¢ 1
2. % 2
3.% 3

4. % 4



Question Number : 117 Question Id : 39226615837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The reason for having slopy branches and needle like leaves in
mountain plants

1. Protecting from herbivores

2. Sliding off snow and rain water easily
3. To receive more sunlight

4. To increase the rate of transpiration

‘Jaﬂﬁjﬁ @“De:é Bpﬁb_au TrenT &S00 ?&3’3&&13, Wredhe S08
oo EOR okadd st8n0

L &8 290 $00& SERToiet
2. SEPAW, D0 BOEM w0FPed
3. BrEd)d efson Harowheh
4. z:u&rﬁﬁﬁ TN DOHEE

Options :

1. %1

2.¥ 2

3.% 3

4. % 4



Question Number : 118 Question Id : 39226615838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The Forest Act in India 1s NOT about
A. Preservation and conservation of natural forest

B. Providing the basic needs of the people living in or near
the forest

2 Protecting people from wild animals
L. A only

2. B only

4. C only

4. Aand B

PEEDE 0EHe $&o B KHBod BoNb.
A OPrE eXPosd YESHthse, vosZowse

B. & 3%508° 25203 702 595 v&odrciren
§€Jﬂ)0iﬁ:é§

33 ;5;‘::’5 ;&':}Jme: 5006 RREIOR SoarEaIe)
1. ASeEgds

2. Bimgd

Tad

C $oo(€830
4. A>0c5» B

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 119 Question Id : 39226615839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the organic impurities in sewage water

L. Vegetable waste
I1. Phosphorous
III.  Herbicides

IV. Metals

SBIOABE’ EHS 50T KHJoS0s
L ﬁ:ﬂtﬁﬁ“dﬁ;ﬁ};ﬁgggega
L oS

III. Zewy DoT%Esten

IV. &few
i L III
2 I IV
% II. IIT
4 LIV

Options :

1.v 1

2. % 2

3.% 3

4. % 4



Question Number : 120 Question Id : 39226615840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the incorrect statement about lungs.

1. The right lung is larger than the left lung.
2 The left lung has three lobes.

3; The lungs are covered with pleura.

4. The Iungs are spongy and elastic.

&320880% VOROROD VO T°E50 KHQoHoL

1 $8& &30P XD 2008 K08 DYDY

2 IG5 E3NOBAS® S wodSen &otrow.

3.  &edd8%e ot YO &N FY &0e00d.

4 &a20BEe VYoRANSOT Go& TR Ke30
5OR &oéean.

Options :
1. % 1
2.92
3.% 3
4. % 4



Question Number : 121 Question Id : 39226615841 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The heartbeat of Coaltit bird in one minute is

SaHSBE HIS” 2.8 VXA JySALB)0sSen

i 70
2. 460
3 760
4 1200

Options :

1. % 1

2. %2

3.% 3

4.9 4



Question Number : 122 Question Id : 39226615842 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The colour of material that 1s formed at the bottom of beaker.
when Zinc reacts with Copper sulphate

1. Blue

o

Green

Bluish Green

4, Red

2305, ==%& :’;335@55 B0 STy SOATYE, DL ety
HS0S” )G DY Bk, Yol

a3

1. Deo

2. estone)

3. O esHve)
4.  EDH

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 123 Question Id : 39226615843 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the distance - time graph shows a straight line parallel to
X - axis indicates a body (distance on Y - axis. time on

X - axis)

| Travelling with uniform speed

Z: Travelling with uniform velocity
3. Atrest

4. Travelling with non-uniform speed

Ero - o0 TR X - 953 JroSlor Ke HEE0p

[orDodS, & IR0 (880 Y - 9o, P00 X - @%0w)
— L (= [ -} L+

L D388 (Paredinod

2. RIOIN0S® (HASreIn08
3. Ao 2BS Ko
o8]
4. 3D SES° (HSredtnod
Options :
1. %1
2.% 2
3.¥3

4. % 4



Question Number : 124 Question Id : 39226615844 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT true about eye

1. Cones sense colour

2 No vision is possible at blind spot

LS ]

Cones are sensitive to dim light

4. Lens in our eye is thicker at the centre
¥o&d X800 38 D0 57D

1. Fopohew Horud MHarow

2. ©08 Doty I& 650)?;1 3‘6;550 o0

L

fad

FopoHew e‘.éﬁ:zrzé scofd ﬁgo&@w
4. 5 5o8S™) EEIn B EB)ET &oe0od

Options :
1. %1
2. %2
3.3
4, % 4



Question Number : 125 Question Id : 39226615845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The loudness of sound is
I Directly proportional to square of amplitude

2. Directly proportional to square root of amplitude

Tad

Inversely proportional to square of amplitude

4. Inversely proportional to square root of amplitude
S0 B &I8

L EOBS H0WA ST @S SrRor$os” &otod

3. 505S HOWB $Yairerdd S ST 0S° &0enod.
3. 0D HOWA STR3 NS 50t &0twod.
4. 0085 HOWB Sarerdd DS 5o rs08° &otnod.
Options :
1.¥ 1
2. % 9
3.% 3

4. % 4



Question Number : 126 Question Id : 39226615846 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Earthing means.,

1. Transferring of charge from charged object to same
object.
2. Transferring of charge from charged object to other

object through metal.

Transferring of charge from charged object to the Earth.

b

4. Transferring of charge from discharged object to the
Earth.

JBOA @S

1. eSO 50 o0& SV BT TP

288 Baho.
p. &3¥ PO H0) 08 HEE SPH eR¥o S0
oo 2288 BaEo
3. IV O $:0s) o0& eF¥0 25w 2088 TahEo
4. &IPS 509 908 eSed) 23 288 Sanvo

Options :
1. %1
2. % 2
3.¥3
4. % 4



Question Number : 127 Question Id : 39226615847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This constellation looks like a distorted letter W or M

i. Orian

2. Ursa major
3. Leo major

4. Cassiopeia

&3 SHEo3 35350005 WSz M e58oer &0eod
e e

1. £80%9

2. &or)yDowd

3 OD> Dzb

4, S BIOSTe

Options :
1. %1
2. %2
3.% 3
4.9 4



Question Number : 128 Question Id : 39226615848 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct food chain

1. Plant — Insect - Hawk — Snake — Peacock
2 Microbes — Grass — Rabbit — Snake — Deer
3. Grass — Insect —» Frog — Snake — Eagle

e

Trees — Biurds — Snake — Fox — Peacock

1 E:Lﬁb_—}i*” v e S (T Sy T R e 7 ()
2. BRI > NG > HoBew > P > B0¥
3 R — 30EIw = ¥ = JEn = (18
Co @
4, Dew — e — PR —>» ﬁﬁgf — N0
Options :
1. %1
2. % 2
3.3
4, % 4
Sub-Section Number : 2
Sub-Section Id : 392266576

Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226615849 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Scientific mventions are for human welfare.” This statement
1s related to

1. Intellectual value
2. Utilitarian value

Vocational value

Tad

4. Ethical value
"DITD, LAY B IPITV (DBrEIo STED,” eSO
822 02000958

TOE e
-

2 Sa@IrAES® Je0S
3. SBSEHS e
4. I8 dews

Options :

1. %1

2. %2

3.8 3

4.9 4



Question Number : 130 Question Id : 39226615850 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
According to NCF — 2005. this 1s NOT a part of Science
Educational objectives
I Promoting construction of knowledge
2. Promoting discovery learning

Inculcate value of discipline

LS |

4. Promoting peaceful coexistence
2005 =863 Ao (PETPE S0 (BSTO ‘;@% g a)f?;e:és
2RO S°08
1 23055 Z)o”&fao BRayaer @Ee‘éﬁﬁoﬁéo
=
2. &s&)‘n’a{reﬁm eﬂzﬁé"m’m@ @Se‘éﬂ)ﬂ?oiﬂ&o
3. (Eo8Ee Jewsd DOFoB0NED

4. FONS56s ﬁmﬁz@;‘jmﬁa 20PoDOoSED

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 131 Question Id : 39226615851 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The lesson that 1s NOT related to the theme “matter” is
1. Artificial fibres
2. Separation of substances
3 Metals - Non metals
4. Light - Shadows
300 US° Vg’ e 8BTS oK reego¥o
1 5@)@& CroPeD
2. TR FEBADHE
3. S0 - 98 ke

4. 508 - JEen
Options :
1. %1
2. %2
3.8 3
4.9 4



Question Number : 132 Question Id : 39226615852 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the correct pair based on the given information

A.  Cognitive domain — Brain
B. Affective domain — Heart
£ Psychomotor domain — Body movement

208 HIFTEO STLEOM HIS BED VOB VITTNO

o8ouok.

A. zs;a“ezé ¥ $0R0 - 08
B. aﬂ:ﬂééﬁ SoNKo - t.’:'bqjc?:ict‘im
L NN SoT &) Soro - FHSE SoTren
1. A.B
2. A-B.C
3 RC
4. A C

Options :

1. % 1

2.2

3. % 3

4. % 4



Question Number : 133 Question Id : 39226615853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A whole hearted purposeful activity which is conducted in a
social environment is called project.” defined by

1.

fad

4.

Jonathan
Parker
Stevenson

Kilpatrick

"oy FES 570 ooy Yarsterl TSN RSSO
Q0D SUFES B (B, 6 JSKDoNS

L.
=
3.
4.

Options :
1. % 1
2. % 2
3.% 3
4.9 4
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Question Number : 134 Question Id : 39226615854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Theme for National Science Day-2024

8 Indian Technology for Vikasit Bharat

2 Ancient Technology for Vikasit Bharat

3. Indigenous Technology for Vikasit Bharat
4. Knowledge Society for Vikasit Bharat

2024-22805 ) OIS BB N0

1L 515 o85S 5% r8Bah SrosdEes

2. JBDS ES S°BH |FPAS FOSDEeS
3. IBDS rES B JoPIrdis JPOEDEES
4. RS S ST DS BN mo

Options :

1. %1

2.% 2

3.3

4. % 4



Question Number : 135 Question Id : 39226615855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Marks allotment for lab activity. written works. project works
and slip test in the formative assessment respectively
Aoe £S5 SorergoEIos” (HErRee Ko, cEvhen,
(B D00, 0 DO TErowodT Sty en Ko
1 20. 10, 10, 10
2. 10, 10, 10. 20

15.15.10. 10

4, 15,10, 15,10

T2l

Options :
1. %1
2.¥ 2
3.% 3
4. % 4



Question Number : 136 Question Id : 39226615856 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following is NOT a character of hypothesis

1. Should be realistic

19

Should be logical
3 Should be tested

4. Should be generalized
308 FAS" HOKL) o0 IO

1. TR0 &0
2. oeQ), Ko &omd)

3. HE20SSASOT o

[ ]

4. %ﬁﬁr%ﬁtﬁrﬁﬂ& DHenmr &od.

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Section 8

392266518
8

Online
Mandatory
24

24

12

0

1
392266577
Yes



Question Number : 137 Question Id : 39226615857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The main aim of “Prime Minister Rozgar Yozana™

1.

The Central Assistance for primary helth. education.
drinking water and electrification in Rural Areas

Organising poor families as self-help groups who got
Bank Credit and government subsidy

Ensure food security for poor

Create self-employment opportunities for educated
unemployed youth of Rural and Small towns

LW e — PP e -
(@DEP500(E 5*EmE Sores Q)J.ng_ S0Pg d‘—og-ﬁgo

Options :

1. %1
2. %2
3.% 3
4.9 4

PDeaT0 (FEWY e8°1§0, e, (@O,
eigBELE Tdeo Koy Tol B0
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Question Number : 138 Question Id : 39226615858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the wrong statement regarding latitudes

1. The term latitude 1s derived from a Greek word
‘Latitudo’.
2 They are imaginary lines.

The climatic divisions of the Earth can be studied with
the help of latitudes.

d

4, They are parallel to the equator.

V0T DOWOROD BBF F°F4R) HQoU0k.

I SO¥0 &R H&o ‘w&mécf" o A% HEo Sod
Ho5fndod.

4 @ &a50pen.

3 233mal0 ::T‘::J.J,-_,"b_ TERO IO Sloplel:ils)
B8 0e° @¢3§05:50 DCB).
4. ©d Fruey B HDSTr0SB0M &OLTPa.
Options :
1.v 1
2. %2

3. %3
4. % 4



Question Number : 139 Question Id : 39226615859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are made infront of contour barriers to collect water.

1. Harvesting pits
2 Trenches

3. Wells

4. Ponds

HE3D HEDoSED 550 sroerS Ko 520060 errosS® DD
Do) DY

1 05580 Moodien
2 Kodsrew
3 2000
4 20éen
Options :
1. % 1
2.2
3. %3

4. % 4



Question Number : 140 Question Id : 39226615860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The sixth part of a crop of Grihapatis given to the king of
Mahajanapadas was called as

i Bali

2 Bhaga

2 Sulka

4. Ilar1

DFRTHTOS” KFrHden S50 Do’ orer TYOD et

o) U DIDT.

[ 236
2 2o
3 Do),
4 qc;._:_}a

Options :

1. ¥ 1

2.9

3. %3

4. % 4



Question Number : 141 Question Id : 39226615861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0
He was also known as “Hasan Gangu’
1. Muhammad Shah I
2. Muhammad Shah I1I
3. Feroz Shah
4, Alauddin Bahaman Shah
38 TR KoK @ 55 DOBT
L Sosd wwrmys
2. &S Swmys
3. &S
4. @@;;@QS ANV,

Options :
1. %1
2. % 2
3.8 3
4.9 4



Question Number : 142 Question Id : 39226615862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In 1856. this Governor General decided that ‘Bahadur Shah
Zafar would be the last Mughal king and after his death none
of his descendants would be recognized as kings’

1. Lord Wellesley
X Lord Dalhousie

LS

Lord Canning
4, Lord William Bentinck
‘25S58 2 2H8 Bud orered® VSO ED @5
SOBETHOBEO BB TBDODSOR) ToeFeon™ KO0
SEKED’ 18568° (HEB0DS XSG s
1. e Iod
Co [ ap
2. o ESd
Ca o
3. o8 Joh
Cao

4. E}""g N300 Botdos

Options :
1. %1
2.% 2
3.¥3
4. % 4



Question Number : 143 Question Id : 39226615863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Bhilai Steel Plant was set up with the help of this country
in 1959

i. Russia (USSR)
2. Japan
3. Germany

4. England
Derdo gosn - &K 5o°ymonR) B3 BE 580
19598 FHoT.

i 5&5 (USSR)

z =S
3. =y
4.  goro&

Options :

1.v 1

2.% 2

3.% 3

4. % 4



Question Number : 144 Question Id : 39226615864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Find the incorrect statement regarding the Rajya Sabha

l.

It acts as the representative of the States of India in the
Parliament.

Members of the Rajya Sabha are elected by the elected
members of Legislative Assemblies of various States.

The President nominates 15 members to the Rajya Sabha.

There are 233 elected members in the Rajya Sabha.

TR D000 BOS) BoFR) [Howok

1.

Options :

1. %1
2. % )
3.¢3
4. % 4
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Question Number : 145 Question Id : 39226615865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Nelson Mandela received ‘Bharata Ratna™ Award 1n this year

EE:DS SooteT B3 moaﬁe‘%éoéf B By @Jﬂgﬁa

55:‘5605“&:
1. 1986
7.4 1988
3. 1990
4. 1992

Options :

1. % 1

2.% 2

3.3



Question Number : 146 Question Id : 39226615866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Fundamental Duties were taken from this Constitution

L. USA Constitution

.4 Britain Constitution

French Constitution

(a2

4, Russian Constitution

(FPFDE Ahotd B3 Toeggoiio 00& ?05&{30?&3.
1. USA U“E'ﬂéoﬁo

2. @& SRS

3. (@00 SRS

4. 5‘5.155 RSN

Options :
1. %1
2. %2
3.8 3
4.9 4



Question Number : 147 Question Id : 39226615867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to the Urban Water Commission norm. the quantity
of water to be supplied per person per day in Indian urban

areas 1n liters 1s

©B)S T°eE EDRS Y00 (HI7e30 (P50, ersSBFos D
Dees |T0S0S” 2.8 $E33 Seetd HEHT IHOdS A8

$0550 @mg&

1. 135
2. 125
3 145
4, 155
Options :
1.9 1
2. % 2
3.% 3

4. % 4



Question Number : 148 Question Id : 39226615868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Shifting Cultivation is known as ‘Ladang’ in this country

19 Mexico
2 Brazil
3. Indonesia

4. Malaysia
DTS FEFETY) Dol o &2 TS denrthd.

1 3:13‘3&"3
2. B85
3. 30&%8ad
4. o8NS
Options :
1. %1
2. %)
3.% 3

4.9 4



Question Number : 149 Question Id : 39226615869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

It 1s NOT a benefit of savings

i. Helps in emergency

£

Gives financial independence

Raises expenditure

Tad

=

Limits debt
Py IO (PSBoemIO T
1. BSELIOE :.aaim:e:amesﬁ EIDINDEIE00.

2. 0% @‘59:60@'“5{)__2 3008

d

‘313&-1) o eod
4, BRPI SA00

Options :
1. %1
2. %2
3.3
4. % 4



Question Number : 150 Question Id : 39226615870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

It is an industry in Co-operative sector

1. Maruti Udyog Limited

2. Sudha Dairy

Hindustan Aeronautic Limited

('S ]

4. Steel Authority of India

30 BIPSE BoKoS' 2.8 BO|FD
1. S8 &SR O1BE

2. oo gd

3. oy AETaE O1sE
4. 26 o508 &f 30&0w

Options :
1. %1
2.9
3.8 3
4. % 4



Question Number : 151 Question Id : 39226615871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

World war - I ended with the conference on peace
conducted at

I Danzig
2. Berlin
3. Versailles
4. Munich
300658 (HH0oBEFO N & BBAS 08 BIFDI0S" SRS
4 GroRoA
3 7308
[ |
3. :.atfn}o:a::e%
4. ;ﬁmegfég
Options :
1. % 1
2. % 2
3.4 3

4. % 4



Question Number : 152 Question Id : 39226615872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The first school for girls in Pune. India was founded by

1. Anandi Ben Joshi

2. Panditha Rama bai

Annie Besant

(a2

4, Savitribai phule
PESTEOS D YIS e 550 Inganee FET
i‘gﬁ:o&ﬁaﬂ*tﬁ:

1. e300 BS 8%
2. Hodes Sirerramw
3. eddosd

4. FIQwran YO

Options :

1. %1

2.% 2

3.% 3

4.9 4

Sub-Section Number : 2

Sub-Section Id : 392266578
Question Shuffling Allowed : Yes



Question Number : 153 Question Id : 39226615873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

It 1s NOT a key concept of Economics

1. National Income

2. Per Capita Income

3. Lok Adalath
4, Inflation
v Boy o o
@g%ﬁ@ SO5 Z%uw S 3&
1. 2B T 00
2 e300 esrdo
3. S Seorod
4. @5555&:23930
Options :
1. %1
2. % 2
3.¢ 3

4. % 4



Question Number : 154 Question Id : 39226615874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
‘Global Family’ is a
1. Professional value

2. Information value

International value

fad

4, Political value
TRODE Hé0020” 0D

1 é@)@ RISER

2. eI ales
3. m@'cg&d&: Denss
4. orsdin e
Options :
1. %1
2. % )
3.¢3

4. % 4



Question Number : 155 Question Id : 39226615875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

An altitude of above 10000 feet 1s indicate with this colour on
maps

1. Red
2. Blue
3 Yellow
4. Brown

$erod® 10000 ecie 5T7) JE) 5 I B3 Yok s®
S,

L 5D
2. Qo0
3. D000
4. RO

Options :

1.v 1

2. % 2

3.% 3

4. % 4



Question Number : 156 Question Id : 39226615876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the steps in ‘Problem solving teaching method’ from
the following.

A, Identifying and defining the problem

B. Making hypothesis

i Collecting and interpreting information

308 B’ VDY BOIY SES EY” Do), Prew
5803506,

A DRy HoB0wE0, JETW0LE0
B. 38%o)den SAaE0
C. HDsrordo mEdosEo, I§PRgROEO
i A B
7 A G
3. AB.C
4. B
Options :
1. %1
2. %2
3.¢3

4. % 4



Question Number : 157 Question Id : 39226615877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“In the classroom. there are 12 types of children in addition to
normal students.” - stated by

1. Dunn
2 Walther Thomas
Tom Limpson

4. Bender
“SERA KOS® oS s}mﬁaeﬁ e 12 8570 dyen
Eodytia,” = ?:?.:;JES e

b

1 &S
2. 586 ool
3. oo @DﬁJE
4. Boxs
Options :
1.¥ 1
2.% 2
3. % 3

4. % 4



Question Number : 158 Question Id : 39226615878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“To what extent was Ashoka’s adherence to the path of
non-violence 1s correct?”- This Question 1s a

1. Discussion question
2 Critical question
: 3 Classification question

4. Observational question
"©F7%% elrodr dZoer) FBothe: JoE B

RDOEB0?” - Ba (3¥) ¥

. e 5 .'/\E I‘_,é “‘|
1 uCF"LJe_e@' & E
2, 2oy Tresy ¥ l\‘_ﬁ%ﬂ
nYel-d S
8 § (ofar] %)
e e |9
4. IBBoze ¥ (9%
Options :
1. % 1
2.9 2
3.% 3

4. % 4



Question Number : 159 Question Id : 39226615879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The number of Formative Assessments should be
conducted in an academic year is

2.5 Do ﬁo;::-’e‘_ﬁn)doé* Kﬁ(‘ﬁﬁﬁ?@ﬁ“@“}ﬁ Aoe eeh 8
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Options :
1. % 1

o}

2.9 2
3. %3
4. % 4



Question Number : 160 Question Id : 39226615880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Characteristics of a good classroom are

A. Tt should be spacious and well ventilated.

B. Blackboard should be arranged for the convenience of
the students.

e Running black board should be set up for the children
of classes! and 2
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1. A.B
2, B.C
3, A C
4, A.B.C
Options :
1. %1
2. %2
3.%3

4.9 4



